107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat

N 1 RO k58 7
DA 1 ZFORR k58 6
DA 1 RO 5 7
N 1 HOA k58 3
N 2 FOE 5 7
DA 2 HROZ 5 3
KE 1 210 k58 4
= 1 F08 5 5
=)= 1 MOB 5 2
=)= 2 wHO2 ko8 2
=)= 2 %0& 4 1 ES(0p%s
=)= 2 2loe ko8 6
i 1 MOIE 5 6
TH 2 FrOiA ko8 3
173/ 1 MOR ko8 2

A GEE 1 EBO3E 4 1 ES g%
(E3=E 1 RO ko8 2
B 1 =07 ko8 2
B 1 =0 ko8 4
B 2 ROZR ko8 3
B 2 sROF) 5 4
B 2 BOE ko8 2
L 3 FO0%= ko8 3
L 3 ROFH X 1 ESTp%E
& BOw ko8 3
=) 1 @ OR% ko8 5
=) 1 BROF X 8 I =Pk
=) 1 BO% ko8 5
S 1 HORE ko8 8 Y=o




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEBR | BEWL | HEESR Al ZEWITR =i
E2LE: 1 FOH 4 3
E2LE: 1 208 Z 6
E2LE: 1 20= Z 6
E2LE: 1 %0 Z 6
E2LE: 1 MO E2 1 E1ilgif
E2LE: 1 HOR =2 7
E2LE: 1 ZhOAe =2 5
E2LE: 1 PEROM E2 8 Y=o
BEE 1 NOLH Z 5
BEE 2 O/ 5 5
= 1 HO3Z 4 6
= 1 sROR H 8 FEY=Pant
= 1 ZRO M 4 2
= 2 =016 H 8 Y =Pan
= 2 BROFR H 8 FEY=Pant
= 2 RO/ Z 3
= 2 ZOE =2 5
5Z 1 Z0= 4 5
5Z 1 FOB =2 4
5Z 1 EOMfT 4 4
R 1 EOWL 4 2
il 2 9 RO 4 1 Eaht
PZH 3 HOR 4 8 Y =P
PZH 3 EOE 4 8 Y =P
PZH 3 #xOJH 4 8 Y =P
L 1 %20 =2 4
L 1 5RO 4 1 Eaht




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
R 1 =OfB k58 4
R 1 =0&F 5 4
R 1 ROF 5 6
R 1 ZFO<F 5 7
R 1 RO 5 6
R 1 BROE k58 4
R 1 BROZ 5 6
R 1 205 X 7
R 1 =0X 5 8 Il
R 1 =01k 5 2
R 1 =0% ko8 7
R 1 =0F 5 5
R 1 ZOZ ko8 7
R 1 HOR ko8 7
R 1 HOZ 5 6
S 1 BOZ 5 7
S 2 RO 5 3
S 2 FROE 5 8 3=k
S 2 SO ko8 3
S 2 FOX ko8 7
S 2 MOER ko8 2
S 2 sROM 5 6
R 2 =05 ko8 4
R 2 1% O3lie ko8 3
R 2 =0F 5 8 I =Pk
R 2 #E O 5 5
R 2 EAORL % 2
R 2 EAOfY ko8 7




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
R 3 FO% 5 7
R 3 FO=E k58 4
R 3 FORE X 4
R 3 FOH k58 7
R 3 =08 5 5
R 3 MOE 5 2
R 3 MO k58 6
R 3 MOZE 5 2
R 3 BR O ko8 5
R 3 RO 5 3
R 3 =0% 5 5
R 3 =0% ko8 5
R 3 =={0):2 5 5
R 4 05 4 6
R 4 F018 X 7
S 4 =0 5 2
S 4 =20} =] ko8 3
S 4 ERO1E 5 2
S 4 fEO% ko8 6
S 4 ROR 5 7
S 4 #FO7)] 5 2
S 4 2O ko8 2
R 4 BRO= ko8 7
R 4 OB 5 2
R 4 207 5 7
R 4 =01 5 5
R 4 =0 ko8 3
R 4 HOH ko8 5
R 4 HORE o8 6
R 4 =018 5 2
R 4 #EOE 5 3




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
R 5 TOR 5 4
R 5 FO=E k58 3
R 5 E[0)=] 5 4
R 5 sR O 5 2
R 5 sROER k58 7
R 5 ZEOn k58 4
R 5 BROZE 5 4
R 5 RO 4 1 S<1io3t
R 5 fROZ 5 5
R 5 =={OFa ko8 3
R 5 FEOZK 5 5
R 5 HOZ 5 2
R 6 5=0O5m ko8 5
R 6 SO 5 3
R 6 =02 5 2
S 6 ZOH 5 2
S 6 MO= ko8 7
S 6 MOE ko8 3
S 6 [O)= 5 6
S 6 O 5 2
S 6 sROM 5 8 3=k
S 6 sROM ko8 3
R 6 BRO#F ko8 2
R 6 RO 5 2
R 6 BO& 5 4
R 7 FO X 6 RS
R 7 MOR 5 6 RS
R 7 20%# ko8 4
R 7 =0m ko8 6 RS




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
e 1 RO 5 3
e 1 (Z]O)=1 4 1 S<1io3t
e 4 O 4 6 EE3
T 1 Z OB 4 1 S<1io3t
T 1 MOM, 5 6
T 1 MO X 3
T 1 HOA k58 3
T 1 =0% 5 3
T 2 TO% 5 6
T 2 015 ko8 4
T 2 5ROF)] 5 2
T 2 O ko8 5
T 2 =08 ko8 5
T 2 =0 5 7
T 3 TOE 5 8 IOk
T 3 MOE ko8 8 3=k
T 3 0% 5 3
T 3 207 5 8 3=k
T 3 #FOR ko8 1 ES g%
T 4 TOmZ 5 4
T 4 =072 5 8 3=k
T 4 ZFOr¥ ko8 2
T2 4 =01t 5 6
T 4 MOTE 5 3
T 4 =01 ko8 5
T 4 B Ot ko8 6
T 5 EBOie ko8 7
T 5 sROHfT ko8 4
T 5 RO o8 7
T 5 =0H o8 7




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
T 6 Z OBt 5 1 ES(op%S
T 6 F0E X 4
T 6 BORE 4 1 S<1io3t
T 6 HOZE 5 2
T 6 BROS 5 6 EE3
T 7 ROE k58 5
T 7 MO 5 6
T 7 EBRO1E 5 4
T 8 TOR 5 1 ES(op%s
T 8 T OzE 5 1 ES(0p%s
T 8 ZNOL] ko8 5
T 8 =018 4 1 ES(0p%s
T 8 MO 4 1 ES(0p%s
T 8 MO 5 1 ES(op%s
T 8 EROF)] 5 1 ES(0p%s
T 8 ROR 5 7
T 8 HOLE ko8 7
T 8 FO= ko8 1 ES g%
T 8 O ko8 1 ES g%
T 8 RO ko8 1 ES g%
T 8 fROZ ko8 1 ES g%
T 8 BRORR ko8 6
T 8 BRORHE X 8 Y=ok
T 8 720 5 1 ESTp%E
T 8 =0k X 1 ESTp%E
i 1 sRO1C 5 2
i 1 =0 5 4
g 1 EAO#m 5 5




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEXRER | BXEWR | MELER E]l Z IR fat
= 1 =08 k58 7
= 1 O 5 6
= 1 ZOkE 5 7
= 1 LIOES 4 1 S<1io3t
= 1 OB 5 4
= 2 FO= 5 4
= 2 =08 4 1 S<1io3t
= 2 EI[O)E 5 8 Y =P
= 2 HOZ= ko8 3
= 3 HO% ko8 7
= 3 BROE 5 7
= 3 BROYS ko8 3
= 3 =0k 5 4
= 3 BOltE 5 4
= 3 Z=OM ko8 5
= 3 22038 Z 7
= 3 E(0)=] 5 7
= 3 #MOE= ko8 1 ES g%
= 4 FOm ko8 2
= 4 S LO%t ko8 5
= 4 BOZE ko8 3
= 5 »Ota ko8 6
e 5 MOE], 5 6
e 5 5O ko8 2
e 5 =[O 5 8 I =Pk
e 5 =02 5 5
e 5 =0% ko8 3
e 5 #OF5 ko8 3




107 FE/EZ B PIR 2 B - RFEFER/ DI

FEBR | BEWL | HEESR Al ZEWITR =i
= 6 Z0# 5 6
= 6 HOF 5 5
= 6 FFO#h 4 7
= 6 EFOE= 54 6 =S
= 6 FROZ 5 5
= 7 MO 4 1 E1ilgif
= 7 tHOB 4 5
= 7 ERO Z 1 = 1ilgif
BE 1 FOE 5 4
= 2 RO 4 4
AN 1 BROS 5 4
A 1 ZOE H 1 = 1lgif
AN 1 ZEOR 5 3
ETE 1 Z0E H 8 P g=PMs
BE 7K 2 20E 5 4
BE 7K 2 RO 4 2
B 7K 2 =0 =2 3
B 7K 4 =08 Z 4




